StarTechy

Hard-to-find made easy®

Wall-Mount Bracket - 12U
WALLMNT12

FR: Guide de l'utilisateur - frstartech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuério - ptstartech.com

IT: Guida per l'uso - it.startech.com

For the latest information, technical speci[cations, and support for

this product, please visit www.StarTech.com/WALLMNT12.
Manual Revision: 08/23/2016

| product may vary from photos



http://www.startech.com/WALLMNT12

Warning statements Waarschuwingen
resultinpersoral  Z0rg volgen gezet ndien it an
injury or property damage. lichamelijk letsel of materiéle schade ontstaan.
e weightof this product fyou Asude
o personal iy The et
Productcan ubport e 01ving Weight 56 k3 (7515) Snerseunt net volgende gevicnt 56 ko
perate this product o bkt
prop: o F in personal Indien u it niet dost
Injry imes the onistan
Whigh:of the mocnted equipmnt tovir koot
o I3 Doty
Fre Contact om it vestien,
Provide peci(Eh Gere
Vourwallsructre TONAge INSICEe V00 i WARGHITCHULY 1 geven
Dichiarazioni di avvertenza Varningsmeddelanden
sosamblarai setllatg
S persone o poprieta E
cith ncasodi e tilattutustninging ik e Overstiger p
ilcar [l 'y i kg,
prodotto & in grado di supportare | seguenti pesi: 56 kg.
o aggsmurer s r ettt fontollrst aggurn o
" trustningen. det
a et
b
limplg
- e,
Der g kontakta en att oratt ge speci ka
perlatruttura muraria in uso. o
Avertissements Mensagens de aviso
, Vous isquez g o
de vous blesser ou d'endommager léquipement. em ferimentos pessoais ou danos de propriedade.
pacité . Ce prodit exceder " pod e produt
Ppeutsupporter de 56 kg. Ppode suportar o seguinte peso: 56 kg.
manquantes.
q it 7 C vous o S
B enrora e
Lematerel de y 5
e RSaler ot produit o mun Contcter e S oot
U protessomela
péci [qlies a votre structure de mur, gt ear ProCs
Warnhinweise Advertencias de uso
Personen oder Schaden an Eigentum fihren, lesiones personales o dafios en la propiedad.
Wenn die Tagiast
! ‘fthren. Dieses. bt % Sise excede
ProGuRt i fr 01gendes Gewicht Gesgnet K3 dihacapacidad o pecrian roduciseesin
Das Produkt darf nicht bedient werden, wenn Teile fehlen oder beschadigt sind. pr
 portanto .
aloder e
Tonerien Gerdts haen konnen
nstaado
o ] i & hard e oo pusde oo
e pare i para
Wand ereten o ; el e

Instruction manual

StarTechg-0m

Hard-to-find made easy



Table of Contents

Warnings i
INEFOAUCTION ..o 1

Product diagrams 1

Package contents 3
INSTAHATION .. e 3
TechNiCal SUPPOIT......cooviiiiieeiece e s 4
Warranty information..............cocoevieiinin s 4

~

Instruction manual Sta rTe Ch.'o m

Hard-to-find made easy



Introduction

You can use the WALLMNT12 to wall-mount shallow equipment, such as patch panels
or network switches. The wall-mount bracket features a sturdy steel construction, and
is 12Us high. The WALLMNT12 comes assembled with a stabilizing bracket.

Product diagrams
Stabilizing bracket

Sides

Mounting hole Mounting hole

Cable-management slots

Mounting hole Mounting hole

StarTechy

1 Hard-to-find made easy

Instruction manual



Front view

-~ 500mm(19.71iN.) — -

. 465mm (18.3in.)

u]

S
-

Dﬂqﬂﬂqﬂﬂqﬂﬂqﬂﬂqﬂﬂﬂpﬂqﬂﬂqﬂﬂqﬂﬂqﬂﬂﬂpﬂ

[u]

168 mm

462 mm | ©6in)

(18.2in.)

338 mm
(13.31in.)

odoodoodoo

J 00

541 mm (21.3in.)

nooodoodoo

bodso
@

406 mm (16in.)

View looking down on WALLMNT12

349 mm (13.75in.)

+
31.7mm (1.25in.) I i
69.8 mm (2.75 in)! g
i N
(o
Instruction manual Sta rTe Ch.,O m

2 Hard-to-find made easy



Package contents

1 x wall-mount bracket

36 x M5 cage nuts

36 x M5 screws with washers
1x M6 K-nut

6 x wood screws

1 x instruction manual

Installation

The WALLMNT12 ships assembled, so all you have to do is wall-mount the bracket and
install your equipment.

Warning! Before you mount the wall shelf, make sure that the mounting surface
is sturdy enough to support the weight of the WALLMNT12 plus the weight of the
equipment that you intend to install into the rack.

The weight capacity of the WALLMNT12 is 56 kg (125 Ib.).

. Wood screws are provided with the WALLMNT12, but the wood screws may not

be the appropriate mounting hardware for the type of wall you're using. Select
the mounting hardware that is appropriate for the material and condition of your
mounting surface.

. Hold the wall-mount bracket against the wall and insert the mounting hardware

through the four mounting holes in the WALLMNT12 and screw them into the wall.

Warning! The WALLMNT12 features four mounting holes and you must use all four of
the mounting holes when you attach the WALLMNT12 to the wall.

3. Use the M5 cage nuts and M5 screws with washers to install your equipment in the

Instruction manual

wall-mount bracket.

StarTechy.0m

3 Hard-to-find made easy



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information

This product is backed by a lifetime warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of Liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
o Lcerk, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of pro [i3] loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only
and do not represent an endorsement of a product or service by StarTech.com, or an
endorsement of the product(s) to which this manual applies by the third-party company
in question. Regardless of any direct acknowledgement elsewhere in the body of
this document, StarTech.com hereby acknowledges that all trademarks, registered
trademarks, service marks, and other protected names and/or symbols contained in this
manual and related documents are the property of their respective holders.

StarTechy.0m

4 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to- [ndl made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you [ndl the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



